2017 Parkway Tree Planting Program ES

STATE OF ILLINOIS VILLAGE OF HOFFMAN ESTATES TABULATION OF BIDS 2017 Parkway Tree Planting Progarm

County: Cook Date: February 15, 2017 St Aubin Acres Group Alaniz Group Municipality or Road District: Hoffman Estates Time: 10:00 a.m. Nursery Section: Appropriation \$ COMPANY Estimate \$ Attended by: Nick Lackowski BID CHECK Proposal Guarantee: Bond Bond Bond Terms[.] 2017 Proposed Cost Shade Trees QUANTITY Unit Price Total Unit Price Total Unit Price Total \$290.0 \$284.0 Acer x freemanii - Freeman Maple Autumn Blaze' 15-25 \$7,250.0 \$7,100.00 \$368.0 \$9,200.0 Acer platanoides - Norway Maple Emerald Lustre' or 'Emerald Queen' 5-15 \$310.0 \$4,650.0 \$284.00 \$4,260.00 \$371.0 \$5,565.0 Acer platanoides - Norway Maple (Red Leaf) 'Crimson King' or 'Royal Red' 0-10 \$344.00 \$3,440.00 \$296.00 \$2,960.00 \$382.00 \$3,820.00 Acer miyabei - State Street Maple 15-25 \$320.00 \$8,000.00 \$290.00 \$7,250.00 \$371.00 \$9,275.00 \$6,200.00 Platanus x acerifolia - London Plane Tree 10-20 \$310.00 \$284.00 \$5,680.00 \$368.00 \$7,360.00 15-25 Gleditsia triacanthos 'inermis'-Thornless Honeylocust 'Skyline' or 'Shademaster' \$7,750.00 \$7,100.00 \$371.00 \$9,275.00 \$310.00 \$284.00 Tilia cordata - Littleleaf Linden 'Glenleven' or 'Greenspire' 10-20 \$310.0 \$6,200.0 \$290.0 \$5,800.00 \$351.00 \$7.020.00 Tilia Americana - American Linden 10-20 \$320.0 \$6,400.00 \$290.0 \$5,800.00 \$361.0 \$7,220.00 Tilia tomentosa - Silver Linden \$6,400.00 \$5,800.00 \$7,420.00 10-20 \$320.0 \$290.0 \$371.0 \$4,260.00 \$362.0 Gvmnocladus dioicus - Kentuckv Coffeetree 5-15 \$300.0 \$4,500.0 \$284.0 \$5,430.00 Quercus bicolor - Swamp White Oak 5-15 \$315.0 \$4,725.0 \$290.0 \$4,350.00 \$398.0 \$5,970.00 Quercus macrocarpa - Bur Oak 0-10 \$340.0 \$3,400.0 \$290.0 \$2,900.00 \$382.0 \$3,820.00 5-15 \$325.0 \$4,875.00 \$4,350.00 \$382.0 \$5,730.00 Quercus muehlenbergii - Chinkapin Oak \$290.0 \$2,900.00 \$3,820.00 0-10 \$325.00 \$3,250.00 \$290.0 \$382.0 Quercus imbricaria - Shingle Oak 0-5 \$315.00 \$1,575.00 \$305.00 \$1,525.00 \$382.00 \$1,910.00 Quercus rubra - Red Oak Catlapa speciosa - Catalpa 5-15 \$300.0 \$4,500.0 \$270.0 \$4,050.00 \$361.0 \$5,415.0 Betula nigra - River Birch 10-20 \$310.0 \$6,200.0 \$284.0 \$5.680.00 \$361.0 \$7.220.0 \$7,100.00 Liriodendron tulipifera - Tuliptree 10-25 \$320.0 \$8,000.0 \$284.00 \$362.0 \$9,050.0 Liquidambar styracilus - Sweet Gum 0-5 \$330.00 \$1.650.00 \$284.00 \$1,420.00 \$381.00 \$1.905.00 Celtis occidentalis - Hackberry 10-20 \$310.0 \$6,200.00 \$284.00 \$5,680.00 \$361.00 \$7,220.00 Ginkgo biloba - Ginkgo 5-15 \$360.00 \$5,400.00 \$365.00 \$5,475.00 \$398.00 \$5,970.00 Ulmus 'Morton' - Accolade Elm 10-25 \$315.00 \$7,875.00 \$284.00 \$7,100.00 \$348.00 \$8,700.00 Ulmus x 'Morton Glossy' - Triumph Elm 10-25 \$315.00 \$7,875.00 \$284.00 \$7,100.00 \$351.00 \$8,775.00 Ulmus x 'Frontier' - Frontier Elm 0-10 \$315.00 \$3,150.00 \$284.00 \$2,840.00 \$351.00 \$3,510.00 Ulmus x 'Patriot' - Patriot Elm 10-20 \$320.00 \$6,400.00 \$284.0 \$5,680.00 \$357.00 \$7,140.00 Ulmus x 'Regal' - Regal Elm 10-20 \$315.0 \$6,300.00 \$284.0 \$5,680.00 \$368.0 \$7,360.00 Carpinus Caroliniana - American Hornbeam 5-10 \$320.00 \$3,200.00 \$290.00 \$2,900.00 \$371.00 \$3,710.00 Cladrastis Kentuckea - Yellowwood 5-10 \$325.00 \$3,250.00 \$304.00 \$3,040.00 \$378.00 \$3,780.00 Taxodium distichum - Baldcypress 5-15 \$310.00 \$4,650.00 \$275.00 \$4,125.00 \$371.00 \$5,565.00 Aesculus ffava - Yellow Buckeye 10-25 \$320.00 \$8,000.00 \$284.00 \$7,100.00 \$371.00 \$9,275.00 \$275.00 \$2,750.00 \$3,780.00 Alnus glutinosa - Black Alder 0-10 \$285.00 \$2,850.00 \$378.00 Total Bid \$164,115.00 \$149,755.00 \$191,210.00 0.00 0.00 0.00

2017 PARKWAY TREE PLANTING PROGRAM

STATE OF ILLINOIS VILLAGE OF HOFFMAN ESTATES TABULATION OF BIDS 2017 Parkway Tree Planting Program

County: Cook Date: February 15, 2017 Municipality or Road District: Hoffman Estates Time: 10:00 a.m. Section: Appropriation \$ Estimate \$ Attended by: Nick Lackowski	COMPANY	Nurs		St Aubin Acres Group Nursery Y				Alan	iz Group					
Proposal Guarantee: Terms:														
2017 Proposed Cost Ornamental Trees	QUANTITY	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total			
Acer tataricum - Tartarian Maple	5-10	\$295.00	2,950.00	\$284.00	2,840.00	\$381.00	3,810.00		0.00		0.00	0.00		
Acer campestre - Hedge Maple	0-10	\$285.00	2,850.00	\$284.00	2,840.00	\$371.00	3,710.00		0.00		0.00	0.00		
Acer ginnala - Amur Maple Tree Form	0-10	\$285.00	2,850.00	\$284.00	2,840.00	\$372.00	3,720.00		0.00		0.00	0.00		
Amelanchier - Serviceberry Tree Form	5-15	\$320.00	4,800.00	\$284.00	4,260.00	\$371.00	5,565.00		0.00		0.00	0.00		
Malus Species - Ornamental Crabapple 'Spring Snow'	0-10	\$280.00	2,800.00	\$260.00	2,600.00	\$348.00	3,480.00		0.00		0.00	0.00		
Malus species - Ornamental Crabapple 'Red Baron'	0-10	\$260.00	2,600.00	\$260.00	2,600.00	\$351.00	3,510.00		0.00		0.00	0.00		
Malus Species - Ornamental Crabapple - 'Prairie Fire'	0-10	\$290.00	2,900.00	\$260.00	2,600.00	\$348.00	3,480.00		0.00		0.00	0.00		
Crataesus Crus-Gnli Inermis-Thornless Cockspur Hawthorn	0-10	\$295.00	2,950.00	\$260.00	2,600.00	\$351.00	3,510.00		0.00		0.00	0.00		
Pyrus calleryana - Callery Pear Autumn Blaze	15-25	\$315.00	7,875.00	\$290.00	7,250.00	\$351.00	8,775.00		0.00		0.00	0.00		
Syringa reticulata - Japanese Tree Lilac 'Ivory Silk'	15-25	\$315.00	7,875.00	\$284.00	7,100.00	\$361.00	9,025.00		0.00		0.00	0.00		
Magnolia acuminata - Cucumber Magnolia	5-10	\$315.00	3,150.00	\$284.00	2,840.00	\$372.00	3,720.00		0.00		0.00	0.00		
Magnolia stellata - Star Magnolia	0-5	\$285.00	1,425.00	\$284.00	1,420.00	\$372.00	1,860.00		0.00		0.00	0.00		
Total Bid			\$45,025.00		\$41,790.00		\$54,165.00		\$0.00		\$0.00	\$0.00		
Total Bid			\$45,025.00		\$41,790.00		\$54,165.00		\$0.00		\$0.00	\$0		

VILLAGE OF HOFFMAN ESTATES TABULATION OF BIDS

2017 PARKWAY TREE PLANTING PROGRAM

2017 Parkway Tree Planting Program

County: Cook Date: February 15, 2017 Municipality or Road District: Hoffman Estates Time: 10:00 a.m. Section: Appropriation \$ Estimate \$ Attended by: Nick Lackowski	COMPANY	St Aubin Acres Group Nursery Y		Alan	iz Group							
Proposal Guarantee: Terms:												
2018 Proposed Cost Evergreens & Shrubs	QUANTITY	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
Thuja occidentalis - Arborvitae 'Techny' or Pyramidal American'	0-10	\$160.00	\$1,600.00	\$150.00	\$1,500.00	\$268.00	\$2,680.00		\$0.00		\$0.00	\$0.00
Picea pungens - Colorado Blue Spruce 'Hoopsi'	0-3	\$299.00	\$897.00	\$300.00	\$900.00	\$231.00	\$693.00		\$0.00		\$0.00	 \$0.00
Euonymus alatus - Burning Bush 'Rudy Haag' or 'True Dwarf'	0-10	\$44.00	\$440.00	\$74.00	\$740.00	\$61.00	\$610.00		\$0.00		\$0.00	 \$0.00
Spirea japonica - Spirea 'Shirobana' or 'Little Princess'	0-6	\$48.00	\$288.00	\$34.00	\$204.00	\$47.00	\$282.00		\$0.00		\$0.00	\$0.00
Syringa meyeri - Dwarf Korean Lilac	0-6	\$48.00	\$288.00	\$52.00	\$312.00	\$51.00	\$306.00		\$0.00		\$0.00	 \$0.00
Syringa pubescens subsp. Patula - Dwarf Licac "Miss Kim"	0-10	\$48.00	\$480.00	\$52.00	\$520.00	\$47.00	\$470.00		\$0.00		\$0.00	\$0.00
Viburnum dentatum - Arrowwood Viburnum 'Autumn Jazz' or 'Chicago Lusture'	0-6	\$48.00	\$288.00	\$38.00	\$228.00	\$49.00	\$294.00		\$0.00		\$0.00	\$0.00
Taxus media - Japanese Yew (low growing variety)	0-15	\$56.00	\$840.00	\$70.00	\$1,050.00	\$49.00	\$735.00		\$0.00		\$0.00	\$0.00
Buxus microphlylla - Boxwood 'Wintergreen' or 'Green Velvet'	0-25	\$56.00	\$1,400.00	\$80.00	\$2,000.00	\$43.00	\$1,075.00		\$0.00		\$0.00	\$0.00
Ribes Alpinum - Alpine Currant	0-5	\$48.00	\$240.00	\$38.00	\$190.00	\$51.00	\$255.00		\$0.00		\$0.00	 \$0.00
Cornus sericea - Dogwood 'Isanti' or 'Alleman's Compact	0-5	\$48.00	\$240.00	\$35.00	\$175.00		\$285.00		\$0.00		\$0.00	\$0.00
Total Bid 2017 Total Bid			\$7,001.00 \$216,141.00		\$7,819.00 \$199,364.00		\$7,685.00 \$253,060.00		\$0.00 \$0.00		\$0.00 \$0.00	\$0.00 \$0.00

STATE OF ILLINOIS VILLAGE OF HOFFMAN ESTATES TABULATION OF BIDS 2018 Parkway Tree Planting Progarm

County: Cook Date: February 15, 2017 Municipality or Road District: Hoffman Estati Time: 10:00 a.m. Section: Appropriation \$ Estimate \$ Attended by: Nick Lackows	COMPANY		Aubin irsery	Acre	s Group	Alani	z Group						
Proposal Guarantee: Terms:	BID CHECK	D CHECK Bond Bond Bond											
2018 Proposed Cost Shade Trees	QUANTITY	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
Acer x freemanii - Freeman Mapl Autumn Blaze'	15-25	\$290.00	\$7.250.00	\$290.00	\$7.250.00	\$368.00	\$9,200.00	Unit Price	\$0.00	Unit Price	\$0.00	Unit Price	\$0.00
Acer platanoides - Norway Maple Emerald Lustre' or 'Emerald Queen'	5-15	\$290.00	\$4,650.00	\$290.00	\$4,350.00	\$366.00	\$9,200.00		\$0.00		\$0.00		\$0.00
Acer platanoides - Norway Maple Emerald Lustre or Emerald Queen Acer platanoides - Norway Maple (Red Leaf) 'Crimson King' or 'Royal R		\$344.00	\$4,650.00	\$290.00	\$4,350.00	\$382.00	\$3,820,00		\$0.00		\$0.00		\$0.00
Acer mivabei - State Street Maple	15-25	\$344.00	\$3,440.00	\$294.00	\$7,350.00	\$362.00	\$3,820.00		\$0.00		\$0.00		\$0.00
Platanus x acerifolia - London Plane Tree	10-20	\$320.00	\$6,200.00	\$294.00	\$5,800.00	\$368.00	\$9,275.00		\$0.00		\$0.00		\$0.00
Gleditsia triacanthos 'inermis'-Thomless Honevlocust 'Skyline' or 'Shade		\$310.00	\$7,750.00	\$290.00	\$7,250.00	\$308.00	\$9,275,00		\$0.00		\$0.00		\$0.00
Tilia cordata - Littleleaf Linden 'Glenleven' or 'Greenspire'	10-20	\$310.00	\$6,200.00	\$294.00	\$5.880.00	\$351.00	\$7.020.00		\$0.00		\$0.00		\$0.00
Tilia Americana - American Linden	10-20	\$320.00	\$6,400,00	\$294.00	\$5,880.00	\$361.00	\$7 220.00		\$0.00		\$0.00		\$0.00
Tilia tomentosa - Silver Linden	10-20	\$320.00	\$6,400.00	\$294.00	\$5,880.00	\$371.00	\$7 420.00		\$0.00		\$0.00		\$0.00
Gymnocladus dipicus - Kentucky Coffeetree	5-15	\$300.00	\$4,500.00	\$290.00	\$4,350,00	\$362.00	\$5,430,00		\$0.00		\$0.00		\$0.00
Quercus bicolor - Swamp White Oak	5-15	\$315.00	\$4,725.00	\$294.00	\$4,000.00	\$398.00	\$5.970.00		\$0.00		\$0.00		\$0.00
Quercus macrocarpa - Bur Oak	0-10	\$340.00	\$3,400.00	\$294.00	\$2,940.00	\$382.00	\$3.820.00		\$0.00		\$0.00		\$0.00
Quercus muehlenbergii - Chinkapin Qak	5-15	\$325.00	\$4.875.00	\$294.00	\$4 410 00	\$382.00	\$5,730.00		\$0.00		\$0.00		\$0.00
Quercus imbricaria - Shingle Oak	0-10	\$325.00	\$3,250.00	\$294.00	\$2,940.00	\$382.00	\$3.820.00		\$0.00		\$0.00		\$0.00
Quercus rubra - Red Oak	0-5	\$315.00	\$1,575.00	\$315.00	\$1,575,00	\$382.00	\$1,910.00		\$0.00		\$0.00		\$0.00
Catlapa speciosa - Catalpa	5-15	\$300.00	\$4,500.00	\$276.00	\$4 140 00	\$361.00	\$5.415.00		\$0.00		\$0.00		\$0.00
Betula nigra - River Birch	10-20	\$310.00	\$6 200.00	\$290.00	\$5,800,00	\$361.00	\$7 220.00		\$0.00		\$0.00		\$0.00
Liriodendron tulipifera - Tuliptree	10-25	\$320.00	\$8,000,00	\$290.00	\$7 250 00	\$362.00	\$9.050.00		\$0.00		\$0.00		\$0.00
Liquidambar styracilus - Sweet Gum	0-5	\$330.00	\$1.650.00	\$290.00	\$1,450.00	\$381.00	\$1.905.00		\$0.00		\$0.00		\$0.00
Celtis occidentalis - Hackberry	10-20	\$310.00	\$6.200.00	\$290.00	\$5,800.00	\$361.00	\$7.220.00		\$0.00		\$0.00		\$0.00
Ginkao biloba - Ginkao	5-15	\$360.00	\$5,400.00	\$385.00	\$5,775.00	\$398.00	\$5.970.00	- 	\$0.00		\$0.00	- 	\$0.00
Ulmus 'Morton' - Accolade Elm	10-25	\$315.00	\$7.875.00	\$290.00	\$7.250.00	\$348.00	\$8,700.00	- 	\$0.00		\$0.00	- 	\$0.00
Ulmus x 'Morton Glossy' - Triumph Elm	10-25	\$315.00	\$7,875.00	\$290.00	\$7,250.00	\$351.00	\$8,775.00		\$0.00		\$0.00		\$0.00
Ulmus x 'Frontier' - Frontier Elm	0-10	\$315.00	\$3,150.00	\$290.00	\$2,900.00	\$351.00	\$3,510.00		\$0.00		\$0.00		\$0.00
Ulmus x 'Patriot' - Patriot Elm	10-20	\$320.00	\$6,400.00	\$290.00	\$5,800.00	\$357.00	\$7,140.00		\$0.00		\$0.00		\$0.00
Ulmus x 'Regal' - Regal Elm	10-20	\$315.00	\$6,300.00	\$290.00	\$5,800.00	\$368.00	\$7,360.00		\$0.00		\$0.00		\$0.00
Carpinus Caroliniana - American Hornbeam	5-10	\$320.00	\$3,200.00	\$300.00	\$3,000.00	\$371.00	\$3,710.00		\$0.00		\$0.00		\$0.00
Cladrastis Kentuckea - Yellowwood	5-10	\$325.00	\$3,250.00	\$312.00	\$3,120.00	\$378.00	\$3,780.00		\$0.00		\$0.00		\$0.00
Taxodium distichum - Baldcypress	5-15	\$310.00	\$4,650.00	\$282.00	\$4,230.00	\$371.00	\$5,565.00		\$0.00		\$0.00		\$0.00
Aesculus ffava - Yellow Buckeye	10-25	\$320.00	\$8,000.00	\$290.00	\$7,250.00	\$371.00	\$9,275.00		\$0.00		\$0.00		\$0.00
Alnus glutinosa - Black Alder	0-10	\$285.00	\$2,850.00	\$284.00	\$2,840.00	\$378.00	\$3,780.00		\$0.00		\$0.00		\$0.00
Total Bid			aannaaan		annnaanna		\$191,210.00		0		Ö		0
			0.00		0.00		0.00		0.00		0.00		0.00

STATE OF ILLINOIS VILLAGE OF HOFFMAN ESTATES TABULATION OF BIDS 2018 Parkway Tree Planting Program

2018 PARKWAY TREE PLANTING PROGRAM

2018 Parkway Tree Planting Program

County: Cook Date: February 15, 2017 Municipality or Road District: Hotfman Estate Time: 10:00 a.m. Section: Appropriation \$ Estimate \$ Attended by: Nick Lackowski	COMPANY		Aubin Irsery	Acre	s Group	Alani	z Group					
Proposal Guarantee: Terms:												
2018 Proposed Cost Ornamental Trees	QUANTITY	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
Acer tataricum - Tartarian Maple	5-10	\$295.00	2,950.00	\$290.00	2,900.00	\$381.00	3,810.00		0.00		0.00	0.00
Acer campestre - Hedge Maple	0-10	\$285.00	2,850.00	\$290.00	2,900.00	\$371.00	3,710.00		0.00		0.00	0.00
Acer ginnala - Amur Maple Tree Form	0-10	\$285.00	2,850.00	\$290.00	2,900.00	\$372.00	3,720.00		0.00		0.00	0.00
Amelanchier - Serviceberry Tree Form	5-15	\$320.00	4,800.00	\$290.00	4,350.00	\$371.00	5,565.00		0.00		0.00	 0.00
Malus Species - Ornamental Crabapole 'Spring Snow'	0-10	\$280.00	2.800.00	\$270.00	2.700.00	\$348.00	3.480.00		0.00		0.00	0.00
Malus species - Ornamental Crabapple 'Red Baron'	0-10	\$260.00	2,600.00	\$270.00	2,700.00	\$351.00	3,510.00		0.00		0.00	0.00
Malus Species - Ornamental Crabapple - 'Prairie Fire'	0-10	\$290.00	2,900.00	\$270.00	2,700.00	\$348.00	3,480.00		0.00		0.00	0.00
Crataesus Crus-Gnii Inermis-Thornless Cockspur Hawthorn	0-10	\$295.00	2,950.00	\$270.00	2,700.00	\$351.00	3,510.00		0.00		0.00	0.00
Pyrus calleryana - Callery Pear Autumn Blaze	15-25	\$315.00	7,875.00	\$298.00	7,450.00	\$351.00	8,775.00		0.00		0.00	0.00
Syringa reticulata - Japanese Tree Lilac 'Ivory Silk'	15-25	\$315.00	7,875.00	\$290.00	7,250.00	\$361.00	9,025.00		0.00		0.00	0.00
Magnolia acuminata - Cucumber Magnolia	5-10	\$315.00	3,150.00	\$290.00	2,900.00	\$372.00	3,720.00		0.00		0.00	0.00
Magnolia stellata - Star Magnolia	0-5	\$285.00	1,425.00	\$290.00	1,450.00	\$372.00	1,860.00		0.00		0.00	0.00
Total Bid			\$45,025.00		\$42,900.00		\$54,165.00		\$0.00		\$0.00	\$0.00

2018 PARKWAY TREE PLANTING PROGRAM

VILLAGE OF HOFFMAN ESTATES TABULATION OF BIDS 2018 Parkway Tree Planting Program

County: Cook Date: Februa Municipality or Road District: Holfman Estatr Time: 10:00 Section: Appropriation Estimate \$ Attended by:	a.m.	COMPANY		Aubin Irsery	Acre	s Group	Alani	z Group					
Proposal Guarantee: Terms:													
2018 Proposed Cost Evergreens & Shrubs		QUANTITY	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
Thuja occidentalis - Arborvitae Techny' or Pyramidal An	nerican'	0-10	\$160.00	\$1.600.00	\$160.00	\$1.600.00	\$268.00	\$2.680.00		\$0.00		\$0.00	 \$0.00
Picea pundens - Colorado Blue Spruce 'Hoopsi'		0-3	\$299.00	\$897.00	\$310.00	\$930.00	\$231.00	\$693.00		\$0.00		\$0.00	\$0.00
Euonymus alatus - Burning Bush 'Rudy Haag' or 'True Dw	arf	0-10	\$44.00	\$440.00	\$80.00	\$800.00	\$61.00	\$610.00		\$0.00		\$0.00	\$0.00
Spirea japonica - Spirea 'Shirobana' or 'Little Princess'		0-6	\$48.00	\$288.00	\$38.00	\$228.00	\$47.00	\$282.00		\$0.00		\$0.00	\$0.00
Svringa meveri - Dwarf Korean Lilac		0-6	\$48.00	\$288.00	\$60.00	\$360.00	\$51.00	\$306.00		\$0.00		\$0.00	 \$0.00
Svringa pubescens subsp. Patula - Dwarf Licac "Miss Kim		0-10	\$48.00	\$480.00	\$60.00	\$600.00	\$47.00	\$470.00		\$0.00		\$0.00	 \$0.00
Viburnum dentatum - Arrowwood Viburnum 'Autumn Jazz'		0-6	\$48.00	\$288.00	\$48.00	\$288.00	\$49.00	\$294.00		\$0.00		\$0.00	 \$0.00
Vibarnam dentatam - Anowwood vibarnam Automi Jazz	or chicago custore	0-0	\$40.00	3200.00	340.00	\$288.00	\$45.00	3234.00		30.00		30.00	 <i>\$</i> 0.00
Taxus media - Japanese Yew (low growing variety)		0-15	\$56.00	\$840.00	\$80.00	\$1,200.00	\$49.00	\$735.00		\$0.00		\$0.00	\$0.00
Buxus microphlylla - Boxwood 'Wintergreen' or 'Green Velv	vet'	0-25	\$56.00	\$1,400.00	\$88.00	\$2,200.00	\$43.00	\$1,075.00		\$0.00		\$0.00	\$0.00
Ribes Alpinum - Alpine Currant		0-5	\$48.00	\$240.00	\$48.00	\$240.00	\$51.00	\$255.00		\$0.00		\$0.00	 \$0.00
Comus sericea - Dogwood 'Isanti' or 'Alleman's Compact'		0-5	\$48.00	\$240.00	\$42.00	\$210.00	\$57.00	\$285.00		\$0.00		\$0.00	\$0.00
	Total Bid			\$7,001.00		\$8,656.00		\$7,685.00		\$0.00		\$0.00	\$0.00
	2018 Total Bid			aannaann		annaanna		\$253.060.00		\$0.00		\$0.00	\$0.00

STATE OF ILLINOIS VILLAGE OF HOFFMAN ESTATES TABULATION OF BIDS 2019 Parkway Tree Planting Progarm

County: Cook Date: February 15, 2017 Municipality or Road District: Hoffman Estatt Time: 10:00 a.m. Section: Appropriation \$ Estimate \$ Attended by: Nick Lackows	COMPANY			Acre	s Group	Alani	z Group						
Proposal Guarantee: Terms:	BID CHECK	E	Bond		Bond		lond						
2019 Proposed Cost Shade Trees	QUANTITY	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
Acer x freemanii - Freeman Map) Autumn Blaze'	15-25	\$305.00	\$7,625.00	\$295.00	\$7,375.00	\$368.00	\$9,200.00		\$0.00		\$0.00		\$0.00
Acer platanoides - Norway Maple Emerald Lustre' or 'Emerald Queen'	5-15	\$325.00	\$4,875.00	\$295.00	\$4,425.00	\$371.00	\$5,565.00		\$0.00		\$0.00		\$0.00
Acer platanoides - Norway Maple (Red Leaf) 'Crimson King' or 'Royal R		\$359.00	\$3,590.00	\$308.00	\$3,080.00	\$382.00	\$3,820.00		\$0.00		\$0.00		\$0.00
Acer miyabei - State Street Maple	15-25	\$335.00	\$8,375.00	\$298.00	\$7,450.00	\$371.00	\$9,275.00		\$0.00		\$0.00		\$0.00
Platanus x acerifolia - London Plane Tree	10-20	\$325.00	\$6,500.00	\$295.00	\$5,900.00	\$368.00	\$7,360.00		\$0.00		\$0.00		\$0.00
Gleditsia triacanthos 'inermis'-Thornless Honeylocust 'Skyline' or 'Shade		\$325.00	\$8,125.00	\$295.00	\$7,375.00	\$371.00	\$9,275.00		\$0.00		\$0.00		\$0.00
Tilia cordata - Littleleaf Linden 'Glenleven' or 'Greenspire'	10-20	\$325.00	\$6,500.00	\$298.00	\$5,960.00	\$351.00	\$7,020.00		\$0.00		\$0.00		\$0.00
Tilia Americana - American Linden	10-20	\$335.00	\$6,700.00	\$298.00	\$5,960.00	\$361.00	\$7,220.00		\$0.00		\$0.00		\$0.00
Tilia tomentosa - Silver Linden	10-20	\$335.00	\$6.700.00	\$298.00	\$5.960.00	\$371.00	\$7.420.00		\$0.00		\$0.00		\$0.00
Gymnocladus dioicus - Kentucky Coffeetree	5-15	\$315.00	\$4,725.00	\$295.00	\$4,425.00	\$362.00	\$5,430.00		\$0.00		\$0.00		\$0.00
Quercus bicolor - Swamp White Oak	5-15	\$330.00	\$4,950.00	\$299.00	\$4,485.00	\$398.00	\$5,970.00		\$0.00		\$0.00		\$0.00
Quercus macrocarpa - Bur Oak	0-10	\$355.00	\$3,550.00	\$299.00	\$2,990.00	\$382.00	\$3,820.00		\$0.00		\$0.00		\$0.00
Quercus muehlenbergii - Chinkapin Oak	5-15	\$340.00	\$5,100.00	\$299.00	\$4,485.00	\$382.00	\$5,730.00		\$0.00		\$0.00		\$0.00
Quercus imbricaria - Shingle Oak	0-10	\$340.00	\$3,400.00	\$299.00	\$2,990.00	\$382.00	\$3,820.00		\$0.00		\$0.00		\$0.00
Quercus rubra - Red Oak	0-5	\$330.00	\$1,650.00	\$325.00	\$1,625.00	\$382.00	\$1,910.00		\$0.00		\$0.00		\$0.00
Catlapa speciosa - Catalpa	5-15	\$315.00	\$4.725.00	\$280.00	\$4.200.00	\$361.00	\$5.415.00		\$0.00		\$0.00		\$0.00
Betula nigra - River Birch	10-20	\$325.00	\$6,500.00	\$295.00	\$5,900.00	\$361.00	\$7,220.00		\$0.00		\$0.00		\$0.00
Liriodendron tulipifera - Tuliptree	10-25	\$335.00	\$8.375.00	\$299.00	\$7.475.00	\$362.00	\$9.050.00		\$0.00		\$0.00		\$0.00
Liquidambar styracilus - Sweet Gum	0-5	\$345.00	\$1,725.00	\$299.00	\$1,495.00	\$381.00	\$1,905.00		\$0.00		\$0.00		\$0.00
Celtis occidentalis - Hackberry	10-20	\$325.00	\$6,500.00	\$299.00	\$5,980.00	\$361.00	\$7,220.00		\$0.00		\$0.00		\$0.00
Ginkgo biloba - Ginkgo	5-15	\$375.00	\$5,625.00	\$410.00	\$6,150.00	\$398.00	\$5,970.00		\$0.00		\$0.00		\$0.00
Ulmus 'Morton' - Accolade Elm	10-25	\$330.00	\$8,250.00	\$295.00	\$7,375.00	\$348.00	\$8,700.00		\$0.00		\$0.00		\$0.00
Ulmus x 'Morton Glossy' - Triumph Elm	10-25	\$330.00	\$8,250.00	\$295.00	\$7,375.00	\$351.00	\$8,775.00		\$0.00		\$0.00		\$0.00
Ulmus x 'Frontier' - Frontier Elm	0-10	\$330.00	\$3,300.00	\$295.00	\$2,950.00	\$351.00	\$3,510.00		\$0.00		\$0.00		\$0.00
Ulmus x 'Patriot' - Patriot Elm	10-20	\$335.00	\$6,700.00	\$295.00	\$5,900.00	\$357.00	\$7,140.00		\$0.00		\$0.00		\$0.00
Ulmus x 'Regal' - Regal Elm	10-20	\$330.00	\$6,600.00	\$295.00	\$5,900.00	\$368.00	\$7,360.00		\$0.00		\$0.00		\$0.00
Carpinus Caroliniana - American Hombeam	5-10	\$335.00	\$3,350.00	\$308.00	\$3,080.00	\$371.00	\$3,710.00		\$0.00		\$0.00		\$0.00
Cladrastis Kentuckea - Yellowwood	5-10	\$340.00	\$3,400.00	\$320.00	\$3,200.00	\$378.00	\$3,780.00		\$0.00		\$0.00		\$0.00
Taxodium distichum - Baldcypress	5-15	\$325.00	\$4,875.00	\$288.00	\$4,320.00	\$371.00	\$5,565.00		\$0.00		\$0.00		\$0.00
Aesculus flava - Yellow Buckeye	10-25	\$335.00	\$8,375.00	\$295.00	\$7,375.00	\$371.00	\$9,275.00		\$0.00		\$0.00		\$0.00
Alnus glutinosa - Black Alder	0-10	\$300.00	\$3,000.00	\$289.00	\$2,890.00	\$378.00	\$3,780.00		\$0.00		\$0.00		\$0.00
Total Bid			\$171,915.00		\$156,050.00		Naannaan		0		0		0
		T	0.00		0.00		0.00		0.00		0.00		0.00

STATE OF ILLINOIS VILLAGE OF HOFFMAN ESTATES TABULATION OF BIDS 2019 Parkway Tree Planting Program

2019 PARKWAY TREE PLANTING PROGRAM

2019 Parkway Tree Planting Program

County: Cook Date: February 15, 2017 Municipality or Road District: Hoffman Estati Time: 10:00 a.m. Section: Appropriation \$ Estimate \$ Attended by: Nick Lackowski	COMPANY		Aubin Jrsery	Acre	s Group	Alani	z Group					
Proposal Guarantee: Terms:												
2019 Proposed Cost Ornamental Trees	QUANTITY	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
Acer tataricum - Tartarian Maple	5-10	\$310.00	3,100.00	\$299.00	2,990.00	\$381.00	3,810.00		0.00		0.00	0.00
Acer campestre - Hedge Maple	0-10	\$300.00	3,000.00	\$299.00	2,990.00	\$371.00	3,710.00		0.00		0.00	0.00
Acer ginnala - Amur Maple Tree Form	0-10	\$300.00	3,000.00	\$299.00	2,990.00	\$372.00	3,720.00		0.00		0.00	0.00
Amelanchier - Serviceberry Tree Form	5-15	\$335.00	5,025.00	\$299.00	4,485.00	\$371.00	5,565.00		0.00		0.00	0.00
Malus Species - Ornamental Crabapple 'Spring Snow'	0-10	\$295.00	2.950.00	\$278.00	2.780.00	\$348.00	3.480.00		0.00		0.00	0.00
Malus species - Ornamental Crabapple 'Red Baron'	0-10	\$275.00	2,750.00	\$278.00	2,780.00	\$351.00	3,510.00		0.00		0.00	0.00
Malus Species - Ornamental Crabapple - 'Prairie Fire'	0-10	\$305.00	3,050.00	\$278.00	2,780.00	\$348.00	3,480.00		0.00		0.00	0.00
Crataesus Crus-Gnli Inermis-Thomless Cockspur Hawthorn	0-10	\$310.00	3,100.00	\$278.00	2,780.00	\$351.00	3,510.00		0.00		0.00	0.00
Pyrus calleryana - Callery Pear Autumn Blaze	15-25	\$330.00	8,250.00	\$304.00	7,600.00	\$351.00	8,775.00		0.00		0.00	0.00
Syringa reticulata - Japanese Tree Lilac 'Ivory Silk'	15-25	\$330.00	8,250.00	\$299.00	7,475.00	\$361.00	9,025.00		0.00		0.00	0.00
Magnolia acuminata - Cucumber Magnolia	5-10	\$330.00	3,300.00	\$299.00	2,990.00	\$372.00	3,720.00		0.00		0.00	0.00
Magnolia stellata - Star Magnolia	0-5	\$300.00	1,500.00	\$299.00	1,495.00	\$372.00	1,860.00		0.00		0.00	0.00
Total Bid			\$47,275.00		\$44,135.00		\$54,165.00		\$0.00		\$0.00	\$0.00

2019 PARKWAY TREE PLANTING PROGRAM

VILLAGE OF HOFFMAN ESTATES TABULATION OF BIDS 2019 Parkway Tree Planting Program

2019 Parkway Tree Planting Program												
County: Cook Date: February 15, 20 Municipality or Road District: Hoffman Estati Time: 10:00 a.m. Section: Appropriation \$ Estimate \$ Attended by: Nick Lac	COMPANY	St Aubin Nursery		Acres Group		Alaniz Group						
Proposal Guarantee: Terms:												
2019 Proposed Cost Evergreens & Shrubs	QUANTITY	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
Thuja occidentalis - Arborvitae 'Techny' or Pyramidal American'	0-10	\$175.00	\$1.750.00	\$170.00	\$1.700.00	\$268.00	\$2.680.00		\$0.00		\$0.00	\$0.00
Picea pundens - Colorado Blue Spruce 'Hoopsi'	0-3	\$314.00	\$942.00	\$320.00	\$960.00	\$231.00	\$693.00		\$0.00		\$0.00	\$0.00
Euonymus alatus - Burning Bush 'Rudy Haag' or 'True Dwarf'	0-10	\$44.00	\$440.00	\$86.00	\$860.00	\$61.00	\$610.00		\$0.00		\$0.00	\$0.00
Spirea japonica - Spirea 'Shirobana' or 'Little Princess'	0-6	\$48.00	\$288.00	\$44.00	\$264.00	\$47.00	\$282.00		\$0.00		\$0.00	\$0.00
Syringa meyeri - Dwarf Korean Lilac	0-6	\$48.00	\$288.00	\$68.00	\$408.00	\$51.00	\$306.00		\$0.00		\$0.00	\$0.00
Syringa pubescens subsp. Patula - Dwarf Licac "Miss Kim"	0-10	\$48.00	\$480.00	\$68.00	\$680.00	\$47.00	\$470.00		\$0.00		\$0.00	\$0.00
Viburnum dentatum - Arrowwood Viburnum 'Autumn Jazz' or 'Chica	go Lusture 0-6	\$48.00	\$288.00	\$54.00	\$324.00	\$49.00	\$294.00		\$0.00		\$0.00	\$0.00
Taxus media - Japanese Yew (low growing variety)	0-15	\$56.00	\$840.00	\$90.00	\$1,350.00	\$49.00	\$735.00		\$0.00		\$0.00	\$0.00
Buxus microphlylla - Boxwood 'Wintergreen' or 'Green Velvet'	0-25	\$56.00	\$1,400.00	\$97.00	\$2,425.00	\$43.00	\$1,075.00		\$0.00		\$0.00	\$0.00
Ribes Albinum - Albine Currant	0-5	\$48.00	\$240.00	\$58.00	\$290.00	\$51.00	\$255.00		\$0.00		\$0.00	\$0.00
Cornus sericea - Dogwood 'Isanti' or 'Alleman's Compact'	0-5	\$48.00	\$240.00	\$52.00	\$260.00	\$57.00	\$285.00		\$0.00		\$0.00	\$0.00
Total 2019 To			\$7,196.00 \$226.386.00		\$9,521.00 \$209.706.00		\$7,685.00		\$0.00 \$0.00		\$0.00 \$0.00	\$0.00 \$0.00
2019 10	tai bid		\$220,300.00		\$209,706.00		NHHDDNHHDD		\$0.00		\$0.00	\$0.00